01.

02.

03.

04.

05.

sife (Written)

@& f5 fIe Beome (@rw e 5 oW IF el S 4%‘%&&@‘@%?%@@4Wﬂﬁﬁﬁsﬁ2€ﬁw
TR | FTSR OB 215 I (TS A A0S FFHABTS TS 1 T TF '8 1 & ©fSS Tt Ae?

AAYIS: ME(5) EE(4) (i) °Cyx *C3 =20
(i) 1 3 (ii) °C,x 4C, = 60
(ii) 2 2 (i) 5Cyx *C; = 40 |
(111) 3 ] .. Total no. of groups 20 + 60 +40 =120

X O3 FATE QIS I x = y2 @3y = x — 2 (T GU6T M0 WET CFIa crawet 67 3941
g x=y?, y=x—2 ~x=(x-2)* ~x=4or 1

1
Area, A, =2 [, Vxdx=2.2 [xg] =2
Area, A, _[ *(vl'—y'z)dx = f [-J- (x ~ Zﬂ]dx

[xz] —iel a2t =2@-)-t6-D+2¢4-1) =2

LA=A +A, = ; + 2 ? = 4.5 sq.units (Ans.)

9x% — 16y? + 72x — 32y — 16 = (0 IPLERIBe 23S, ©F @¥ ¢ THFHIT %, HANFIT FAFaT 992
qifSerea tady [ =

SA: 9x% — 16y? + 72x — 32y — 16 = 0=> 9x? + 72x + 144 — 16y? — 32y — 16 = 144

[x+4) e (y+1)%

=9(x+4)>—-16(y +1)*> = 144 = >— = 1....(1); The curve is a hyperbola (Ans.)

T, ab—h? = —144 < 0 . aﬁwﬁq@

[tscentreis X,Y) =E0=>(x+4,y+ 1) =0=(x, y) = (—4,-1) (Ans.); e= m,__?=§

The foci (B2TFF) are, (X,Y) = (ii}.g D) = x+4,y+1)=(150)=&y) =(1,-1),(-9,-1) (Ans.)

Equation of directives are X = i : =>X+4= i (Ans )

Length of latus rectum (‘lTW)—‘- s 14 units (Ans;)
A 9. tan™ x+ 2cot 1 x = -E-n

. pan—1 -1 -1, _2 n -1, 2 -1, _% .,
FHATYE: tan™" x + cot™ " x + cot X=3Im=>7+cot™ x = >z = cot x—E..J::=w/§(Ans.)

TR/ cos™? (‘3)=In(5)niﬂ,m‘fﬁm xzu+x F+n y=0

AAY: cos™ (")-nln() Jl—;-ﬁ-:i%:ﬂ-f-%[xﬁmwwl |
b

b1 dy_n_ —dy_n o dy
=bqf1~:_i-_}r1 brax x ~dax % 'th yé= (ﬂ:-:) x2 (hz ~y%) [Tq'S'fE'ﬁ'] '

2
= X2, (Ei) = n?(b? — y?) = *FAI¥ differentiate FTA

-
::a-:r:zz*ﬂ"‘r g3 +( ) 2x = —n%. 2yy, = x°. 2y, E;+y§2x--—n2 2yy,

" dx?

TEYHLT 2y, 4 S I, xzyz+xy1+nzy-0:>x= Y xSy +n2}r 0 [Proved]

dx2




T}

06. WG [y /A —ydy

AAYE: Let,y = 4 5in” 0 = dy = 8sinBcos0do Now, —64 _fln (1 _ y2)y?dy
Now, [ 2 35in20v4 — 4sinZ0 8sin OcosHAD = 64 f; y2dy — 64 _]'ﬁ1 v
= 64 [1/ sin*Bcos?6 de = 64 [}"—3]1 -6 [2]
Let,cosb =y= —sinBdb = dy == (Ans )
O, Let, 4 —y =22y =4 — 2% -, dy = —2zdz .- _f:(-fl - ZE)Z(—ZZ)dZ y=4%,2=0
" J'ﬂ(z2 — 4)2z%dz = 2 J': ztdz—8 [z’dz =2 E]: — 8 [5;:]: y=0%#A,z=2
2(-2)-5(-2) =52« 2

*07. 400g 132 600g S T30 IF G0 T AT Tofw Mo 93l 71 92 &t IR oadrt =971 ifS oF =719 1s 79
ol IBHE 4T AT w9 7oz 7o czre s Fowd #i9 31T e 7 ? |

FAAY: Acceleration = Z“E“‘““ x98 =196ms-2 | Again, when the velocity will be 1.96ms~1due togravity
004400

Velocity after 1 sec = 1.96ms ™! Now, t = — = 0.2sec [vat, 0.2sec *1 I8f> o9

The rope will be straight.  Ans: After 0.2sec. A Lﬂﬁw AT 0579 Tasio Greet zA]

*08. 4g StFF GF6 IF 6m TH A TS S A IMIT Scm o F Fa T ﬂwua@ﬁz%ﬂam%mﬁﬁm

fAfa = |
ANYE: Velocity before touching the ground is assumed v, then v = 2x9.8x6 = 117.6m?s*

Again, if a is deceleration after entering the ground then,a = z:iﬂl:-i = 1176ms ™2

». Average thrust of mud on the body = (1176 + 9.8)x4x10~2 = 4.7432N (Ans.)
Shortcut for objective: F=mg (1 + E) = 0.04x9.8x nf::s) = 4.7432N

09. W3 WeR T ACIA 2AABTe 5T Tt W3 476 1T @ FGSIHHTS 4T Ter W32 86 T <o WICR | TR TAH wle
Ty 457 o491 T 132 @ IE T FErerreng o 99 5H 26| 99t e 2eqw FeEret [T 991 I =0 =
=, O G0 2 I AT CHE AT F57

5
TYiA: Probability of selecting a blue ball from first box = 1 % -% — %
1

&%
Probability of selecting a blue ball from second box = % 1 _ 1

Probability of ball being ball selected from first box =

10. 1200kg STAA GFG SIS ZETT IO 134.05 H. P. '8 TSI 90% | OB Y (AT 30ms™ @O WS
IO T SR ALIE? (1 H,P.= 0,746 kW).

Y &g FWel, P = 134.05x746x90% W = 90001.17
sifefes = oo ; —-I’I'H-”2 =Pt=t= ';ﬂ'l"-i'2 =t = 5.99992201 sec =t = 6 sec (Ans.)

11. aﬁﬁmﬁmﬁiﬂnﬁﬁﬁﬁ%mﬁﬁw%@mzsnmﬂw PR
oifisras) @ar 9 T 1 F91 (Re = 6400km, g= 9.8 ms~2) {aITe I E

R2
A V = ’f;”; f‘ = V=R [-E =V =7769.31 ms~! (Ans.)

T h
Vt = 2n(R + h)= t = 2520

=t =5377.98sec =t = 89.633 min (Ans)




12. qF% SRR (@TF IHT ©H©l 10m. 1MW fagrs T o ofS CErs SRAIEATT @UerEa om 7w
e AR ofere 3?
e RS9 I = Beotm R Wf; mgh = pt=>m = 22 g - = 10204.08kg (Ans.)

13. T 1kg S ST GF0 5N ADIC Toq A1 T4 ©IF S g =T 125 vib min~l. @F WS SER G
=>4 A 243 vib min~! R? 55H 0T ©F T 4

T = . YN g m .31 _ my o, 1 mz ..
W.T—Znﬁzﬁn ZEJ: .*“1-—211 e e (1),111—211: = e (M)

(i) = ()= Ef J—:_—: :%:% = JE:: ;. my; = 0.2646 kg (Ans. )
14, @36 IS 5FR ~R 1 93 @27 5 “RIAR o 7 T9E 91 T SR DT 1.10m @3 CFTRR §feq (Sotme
A 1.098m. I =T Fiefoa S Srermtar 20°C 27 SR arF IO SEEEE SRS F90e T S I 4t B
TS DI B9 0T TS ? (@RF o = 1.2x1075°C™).
FTAIYA: BT #fRiY, 1, = 2n="m = 2nx0.55m; =1 §f%a =Y, 1, = 2n—= m = 2nx0.549m
Y Al = 1; — 1, = 27nx0.001m
A8 =L = Af =151.79°C .. 8, — B, = 151.79°C .. 6, = 171.79°C (Ans.)

lgﬂ.

15. O30 F2C @ANSIT W 35mmx23mm WHEE 30 FBEE 2mx2m WHET 90 2 orso - 39 91 I
*TAIG (71 TS 10m 4R AF ST IR CIFHT g e w0311

2 400 400 10 1 1 1 1 1 -
AAYE: m = =—== === y==L_ Jti=i= o+ =1=1=0.172m (Ans.)
D

T 35x1073 7 7 u T 40 ' v f
16. Y AT 50000V m™* 3&7 (IS 70 9fb JOIFIH #11 0.002m A0 U@ SIHH Witz A #{rea Jrg
0.08m 1 5ifo® YEFHTS (IS vifkws =i Mg 74

e 082
TAYI; € = o= = SISm0 _ g g01x10-11F
d d 0.002

Q3|, v=Ed = v = 50000x0.002V = v = 100V : =&, U= %C’sf2 = U=445x%x1077] (Ans.)

17. 250 #3123 R JOE FEE TP Sem | 37 IS R e[z <fmld 20A 20 S=E $EeEs oam
CTFFCHC T F6? p = 4nx10~"TmA™?),

. p — Nppl _ 250x4nx10~7x20 g
Y. B = o = B = @ e = B = 0.0628T (Ans.)

18. @3 40W 97 IS T TS W& (A = 555nm) v 2= e ofte «fEw 3% ™ wae “fere
RS T, O S FaTe 1S 20 I Fedrw it fsfo =32

.h _
HAYI: f = 3.58x107"°]; 40]-99 3% = 1.2] [1 sec-v] “—T- =12=n =3.352x10"® (Ans.)

AN (Written)

19. 9% A AW TAFAST (A ©F = 31) ISITT rwel Tt = W32 gRe == 9% 957 G fofs e finE
T TET w16 | .

(2) ST A A R Rfrre aax Sestiom oSte sragpr
TAY: Py(s) + 50,(g) = 2P,05(g)

4x31 2x(2x31 + 5x16)

=124 gm 284 gm

(b) TeAAItaa #ifiet et 2.84g, ety 3 “Afmyet (&lT) FTEReT et w41 Tafea? < T T Arest s
ZRA?




BUET X< _".i-l_ ;%

20.

21.

22,

23,

24,

) > (]

l

FAY: P, + 50, = 2P,0, Wﬁﬂﬁrﬁﬂﬁﬁﬁw P05 TR M ﬁil]
284 gm TR WITT 124 g TTTAT 0O

.. 2.84 gm T ST 124 gm THFI O

124

= 31xa MOl THTFAT LS = 0.01 mol TTFAFT T©
Ans: 1.24 gm; 0.01 mol

ABI ST T I QT (THFTR T 12 cpmg—* “NaTT GIeT) WWWWW
=¥ 20 cpmg ™! | &bl TeTer w3 fidfy w41 {mﬁﬁ‘f:{ﬂﬂ?’rﬁaﬁr@ﬁﬁﬂﬂ =)
ANYH: Here,C, = 20 cpmg'1 C; =12 cpmg™?

T o EEEE. = — EE -1 _ -4
1 > 5600 yr . ceoo YT = 1.2375x10 yr-1
:r:r@:rﬁﬁﬂrm CHd, We know, kt = lni—: =t= %lnz—: = 1.23?;‘1”_4 n::}fl‘ = 4127.88 yr (Ans. )

25g o “TTTE ZnCl, @ “AfZeS 1 & 77ew s = (cm? @) 0.05 mol dm =3 HCl < eicaier 2 ot e 731
TG T, ZnO 21 &% #A%e@  Zn0 + 2HC - ZnCl, + H,0
(65.4 + 16)

= 81.4gm 1 mol
81.4gm ZnO = 2mol HCl ./, 25gm ZnO0 = 0.614 mol HCl

% vx0.05 = 0.614=v =12280L = 12280mL [M=2= =

(2) TR STHIROWTEATS SHT, FAw, Toud, An-wwmize qae o wH3s Rew eften 31
(i) KO, (ii) BaO, (iii) SiO, (iv)Sn0O (v) BaO

A (1) AT THRS  (ii) AT HZEG (i) T (iv) Tt (v) FEIT

(b) FoE @it IR Faee R

(i) 7P 70 (i) 2T (iii) T© FifaT (iv) SoEffEs  (v) 2o

T
-E-CH3

Sol° : (i) MgS0,.7H,0 (i) Na,S,0;  (iii)72% CH,OH (iv) COOH  (v) H,N — CO — NH,

(a) TIRGRT QbTea AT 1°, 2° @3 3° wifieTa RidFn orene |

AAYF: NaNO,(s) + HCl(ag) = HNO,(aq) + NaCl(aq)

NaNOD,, H{.‘.l
1° = CH,; — NH,(aq) + HO — NO(aq) - » CH,0H(I) + Nz T (g) + H,0(D)
NaNOs;, HCI
2° - (CHs), — NH(aq) + HO — NO(ag) ———= (CH,),N — NO(I) + H,0(l)
NaNOQ. HCI
 (CHz)aN + HNO, (aq) ———-= [(CHy),Nit | NG, (aq)

w)wﬁﬁﬂmmﬂ " MRG SR tefi s sfienet wie |
NHCOCH;

(CH3C0);0 @ AT HNO
@ +CHgy CUUH P H2S04 .3I:I"l:i'r
NHCOCH; NHCOCH; = NH, NH,
NO, H NO,
+ ot - + 2CH;COOH
NO, NO,
() NaCl @32 AgNO; U &I &3 (TIItT (1 Rfern s1ewfos oy org il v
HAMY: NaCl(aq) + AgNO;(aq) — Naﬂtggn(aqj + AgCl(s) |
(b) SFCB 773 90 5?2
A T GER Aol 90% SRTATTCIT € 10% n- CLBTTR et grersia 1)




BUET o<1 S (

25. s fefermete of was

CO

N

(a) CH,(COOH), + P,0, »  STNiYI: fl.?Hz//O+ 4H;P0, (fFeew= fafamm)

CO
coo™
(b) MnO3 + [Im_ +H* - STHT: Mn?* + CO, + H,0 (St fferm)
(©) Cr0%~ + HY +1~ - FYE: Cr3* + 1, + H,0 (Se-Reme [ie)
(d) NaHSO; + H,S — AA: S + H,0 + NaOH (SeTsieiifes)
(e) Na,CO; + NO, — IY:NaNO; + NaNO, + CO, (Sureiife)
26.  (a) C3HoN WIS Tl afers QAeilba 5T Fage o 7 Ty @ - I+ 7121
H H

I B |
W:H—-[ij— I‘I»I —-C—H

H H-C-H H
I

H
(b) o= fferateteta o s o
'
== AICH e
(i) @ + clcocl s A @ +HCI
CHj
~ CH3  Na\ Liq.NH,
(ii) @ T Y
CH3;—CH-H;
T AlC,
(iii) @ + CH; — CH = CH, ) Y
27. TFENEA 57 @R @ sifes et )
CH,
7 N\
N N
\ /
CH, ¢H,
A FANIEw WAV 30 — 40% TAT BR[| N |
CH, !.. CH, |

N4 l

@S (Written)

Read the following passage and answer the question numbers 28-29 that follow:

Bangladesh is severely affected by all sorts of pollutions. The capital city with a population over ten millions is
exposed to these pollutions. Various outdoor and indoor pollutions harm everybody. The weather pattern has changed |
because of the ccological imbalance. No sooner one goes out of the house, one is exposed to pollution. The air we
breathe in is highly polluted as Dhaka city is a highly polluted city.

The sound pollution is rapidly increasing. Human beings can tolerate 45 decibels in the normal condition. But sound
in many areas in Dhaka City measures 60 decibels at the lowest. In several areas the noise is about 90 decibels. The
situation turns further worse when loud speakers and amplifiers are played and hydraulic horns are used freely by

vehicles. Everybody is aware of the severe adverse impact of noise on the human system, especially on expecting

mothers, children and heart patients.

MmN




R )
BUET &qies SR ‘g
Safe drinking water is the C

diseases, Water-borne
Bangladesh both surfa

rying need of the day. About 2.3 billion people in the world suffer from water-borne
diseases result from using water contaminated by human, animal or chemical wastes. In
ce and ground waters are fouled with industrial, agricultural and municipal wastes. All the
TiVers are so polluted that they endanger human health and poison surrounding ecosystem.

The quality of air ip Dhaka City is the worst. The air is laden with carbon monoxide, sulphur dioxide, nitrogen
oxides, h}’drncarbups, lead and dozens of suspended particles. The cost in terms of loss of life and loss of
productivity due to ﬁnlluﬁnn related diseases is simply horrendous. Air pollution also reduces food production and
timber harvests, because high levels of pollution impair photosynthesis. Pollution from heavy metals is responsible
for loss of iutelligEhce among children and abnormal behaviour among adults. Heavy metals released into the

environment come from emissions by metal smelters, industrial wastes, lead from batteries and water pipes, paints
and gasoline. |

28. Indicate, whether the following statements are true or false, If false, give the correct information.
(a) Ecological balance ensures a healthy weather pattern,

. Ans: True
(b) Sound is polluted by different suspended materials. Ans: False
(c) Pollution from heavy metals does not impair child intelligence. | Ans: False
(d) City dwellers are the worst sufferers from environment pollution. Ans: True
(e) A pollution free environment helps us to lead a healthy life. Ans: True

29.  Fill in the gaps with the correct form of verbs provided.
(a) At present, Bangiadash, particularly Dhaka __ (become) polluted rapidly. Ans: has become
(b) Outdoor and indoor pollutions —(cause) death of huge lives each year. Ans: cause
(c) The consequences of sound pollution (be) really dangerous. Ans: are.
(d) Pure drinking water (have) also become rare. Ans: has
(€) Serious water-bome discases (be) very common, Ans: are

30. Fill in the blanks with appropriate words to provide some information about the ‘pollutions is Dhaka City.’
(a) Air gets In many ways. Ans: polluted
(b) By inhaling polluted air, people sick. Ans: become
(c) Air pollution is a great to our existence on earth. Ans: alarm/warning/threat
(d) There ! many reasons for air pollution. Ans: are
(e) We must keep air and free from pollution in order to survive on earth. Ans: fresh

MG + MR + I + S 0\% (el6)

0. n @7 §IG T TS 17 oo o A wy (A1) = g

1-1/
(a) 2 (b) 3 (c) 6 (d) 4

(1+i)2 P

1+\" _ . n _ 4. _ 44
TS (d); (o _1:‘{{1—1:-1:1“} —1:1“—1,ﬂmwn_4mwﬁ-1..n—4

1 -0 o?
02. o301 97 9 wioa o35 F, O] CleE ﬁ'ﬁmﬁfﬁam F9? |- @2 1
W 1 -
(a) 4 (b) 2 (c)3 - - (d) None of the above
1 —o o
YA (d); [0 @ 1 [=—0"—1+0(®? - 0?)+ o? (~o - a*)
w: 1 —-o

=240+ @’ =2w=-2-20° = -4 (Ans.)
Al T4 40T T @@ )
03. (x-I) «7figfs cuea
(a) 17820 (b) 18702 (c) 13780 (d) 12870
% 16
ST (d): (x =2} a7 fRgfers Wx3om = oth 1m; (8 + 1) ©F *7 = 16Cy(~1)® = 12870 (Ans.)

CrIR ;|




BUET IR | g

*04, M A = [(x,y)/x—-y 2} 992 B = {(x,y)/x+y.-4}§%r,WAanm
(a) (4,2) )G (c) (2, 2) (d) (6,4)
FAE: (b); X — y = 2;x + y = 4. By solving the equation, weget, x=3,y=1
0S. ﬂﬁf(x)=\fx_—ftﬂﬂ&g(x)=x2+1iﬂ.qugiﬂﬁm'¥ﬁ-
(a) —0,—1) U (1,—) (b) [-1,1] (c) (—o0, o0} (d) (—o0,—1] U [1, )
Wﬁﬁ:(d);fng=f(g(x))=f(x2+1)=-Jx3+1—2=\&z_-——l_.'. Dom f = (—o0,—1] U [1, 00)
06. A B O C TiGESTER I TAFC 4 X 5,5 X 4 932 4 X 2 A (AT + B) C MIHTe il -
(2) 5 x 4 (b) 4 x 2 () 5 X 2 (d)2x5
A (c) ; AT @AW 5 X 4; (AT +B) @3 @ 5x 4 .. (AT +B)C @9 7@l 5 % 2
07. nﬁ'A=21—j_+31_c.§=3g+41—sgﬂ,wgm@wgmmmﬁm—

(@) 22 OE OFr @)=
ANIYA: (a) ; Acosb = |EE|£ = mr——"—::i_r—_“iiz;s} = —%ﬁ

08. y2= 2xﬂwmﬁﬁwwm%4x—3y+ 1 = 0 FIACEIE AN 777 7
@ (~33) ® (516 @ (-3 @ (G
FAAYS: (b) ; y2 = 2%° ﬁ‘-liﬁy2=2x3 7 ToR OIZ x FAIF +ve | SRR P o1 = —ve
::rz_v = 2.3x* =:~%=% ‘ytﬂﬁm—ve;%shuuldbe—a

09. (0,-1) 932 (2, 3) RFREEa @ @RS [ wwf&*qra% x-S (TF (@ Al S (27 IR ©f TR~
(a) 4 (b) 2 - (©)3 (d) 3v2

W:{n);x(x—2)+(y+1)(y—3)=£}=:&xz—2x+y2—2y—3=U:}}:z+y2—2x—2y—3=ﬂ
. X ST (P (T ot = 2,/g2 —c=2V1Z +3 =4
10. ﬁtﬁﬁﬁﬁy=—(x—1}ziﬂ'ﬁ@r‘!ﬁ‘5—n—*{? [Ans: b]

\ j (b) ]—TLT (c) TIT[ (d) LA

11. @H%mwwmm@WME%mﬁﬂm@wmmwﬁﬂmm—

(2)

(a) T (b) f— (©) V2 (d) > 3
HAAHY: (2) ;b = ae .. —1-E=ae1= -—ez==~e—é

12. y*= 9xmm%ﬂﬁmpﬁﬁwﬁlzm &Wﬁwmmm_
(a) 213 (b) 163 (c) 35 (d) 18+

Y (d);y2 =9% ~y=12TA, x =16 .-.%ﬂw%asm=a+x=§+15= 181
4
13. 2x+ 3y = 7 @32 3ax — Sby + 15 = 0 T2 76 GFL FAAL &I FACE a @ b FIFA T F© I?

@) (’% ) ® (-3 3) © (-7 3) @ (-3 .2) f‘

T () 3 = 5 =33 =3 "m = "7 P=3 |
14. 4y=3(x—4) aR4y=3x—-1) @t HR07 TS 7Y g FO7

(a)E (b) E () . (d) None of the above

ANE: (c); 4y = 3(x—4),4y=3(x—-1),d= ..{% 3;%1 -

TRy s




15.

16.

17.

18.

19.

20.

21.

22,

23,

".. "'. .'_. _':m
I" g ), Ay [ L]
L - :\1 3 ] ' L *
s ) Y
e i Ly 5t gL

M sin~1 x + sin~1 y = Eﬂf, OIRE (x2 + y?) 99 TN TR

(a) 4 (b) 3 (c)2 (d1
FTAYIN: (d) ; sin~? x 4 sip~1

. n T R
y=§=>x=sm > —sin 1y)=:>x=cns(sm 'v)

=X= EDS(CDS"IJl -y )= x% + yz =

(@+b+c)(b+c—a) = 3bc 2= A @I T Fefa 741

(a) 30° (b) 0° (c):60° (d) 45°

Wﬂﬁ:(c);(a+b+r:)(b+c—a) =3bc=>(b+c)*—a?=3bc=b%+c2—22=}h¢
b%+c2-a2

-

2be =§' " A =60°
cos® +V3sind = 2, (0° < 6 < 360°) g T kT 41 -
(a) 45° (b) 60° (c) 90° | (d) 120°
AAYE: (b) ; cosd + v3sind = 2 = %cusﬁ+§sinﬂ= lﬁcns(ﬂ—g) =1=0 —1::-= Znm
=0 = 2nn +:_J__"i n=0%, .0 === 60°

3
A F9: 2 tan~ (cosx) = tan™1(2 cosecx)

n
(2) nw+ (-1)"; (b) 2nm + - (c) nn if (d) nm + =
FHIYS: (d) ; 2tan™(cosx) = tan~!(2cosec x) = tan™1 (1:;':: x) = tan™*(2cosec x)

= 2cotxcosecx = 2cosecXx D cotx =13 x = nﬂ+:—t

X Q9 ¥ AT TY f(x) = sin® xcosx, (0 < x < m) G 17 J2GN T ©f 0oz-

(a) ¢ (b) = (©)3 ()5,

Y (c) ; 470 option IBTH check T9) /(%) = — sin* x + 3 sin? XCos*X

- f'(x) = 0=> 3cos®x = sin®x = tan?x = 3 = (tanx = +v3) [only + ve] . x = ;—‘and f'(x) <0
M y* = x¥ T, IR L 6 T TR

11'].1'..""[‘x ln.'l"_t ]n}r._._.z lnx-%
(a) hu;—+-f (b) F_E (©) = (d) iny 2
Y
AAYE: (c) ; y* =xY =>xny = ylnxﬂx.-::.}rl +Iny = E+ nxy, =y, G_—Inx) = i:-—lny:}fl = :::_
y
" 1—p~2X
ﬂ[ﬂﬁ‘ﬁ?"ﬁlu LILIS log(14%)’ [ﬂ' <X< 1]
(2) 0 (b) 1 (c) 2 (d)g
2
Co1—emX L 1-142%—" e . 3_‘2.7: 2
FAME: (c) 5 lim s = lim - ,Tgl%___' = lim S =2
.1 [4Vx dy
oy = sint (2] oo () | o -
(a) 4 (b) '_-TIE ‘ (Gﬁ ' . (d) None of the above
AL (d); (4,2) R0 TFAE Bra A1)
[ [==dx @3 W TR- i
1+x
@) sin~lx—VIi—x2+c (b)) VI—xZ+c (€)sin"lx+c¢ . (@) sin"1x+vV1—x2 +¢

1=X

— 1
TneE: (d); f (8% = 7mg 0= [ dx— [ dx=sinix+ VI— X2 +c

“ ‘129 ﬁ MEREISE B0 (o R TE VR RS




25.

26.

*217.

28.

29.

30.

3L

2 (cot=1
JEEE D gy @ W R
(@) —~+c ®):+c () x+¢ (d) =x +
) ,rseci(eot™x) 4 _ )
AAYI: (a) ; [ oo dxcotTix =z ——dx =dz
. — [sec’zdz= —tanz+c= —tan (cot™!x) + ¢ = —tan ('Ean‘l i) +c= - i +c |
DICREEEE EF _[u“f ? cos® x v/sinxdx
(a) -2 (b) i (c) % (d) None of the above
AAHE: (b) ; f:’zcnsax sinxdx ;sinx =2z;x=0=2z = 0= cosxdx = dz;x=£::rz =1
. Ly Sa)t
— 72 = — — zZ | =5
J-IJ (1 Z )‘\/E dz = (\F ZE) dz = [;—1-1 E_:L 21 (Ans.)
o [T/ sin 20
R e 'rﬂ sin® B+cos* @ a8
(a) 0 ()3 ©7 S SRR ()
x/4 2tand sec?p do K
W() J- e =tan‘f =72 [ﬂ:ﬂ—}g:[]; =:—iz=1]

= 2tanfsec?B db = dz; f; lf_z [tan™"z]§ = I

AFG A BIHA AT 5F 9.5kg ST TG 419 FA0 A1 7 B2 G IG AT T 932 IFIHZ SIS FIILHH
QA STBIE TR 21 (7 OV G, G2 T4 0.2 mis ™2, B #{ISfb (S0 T 1 IB/o7 =7 M =

(a) 9.31 kg (b) 10.62 kg (c) B.62 kg (d) 7.62 kg

T (a); R=mg+ mf=R=m(g+H=>95%xg=m(9.8+0.2) .. m =I9.31kg

YRS EIF 6 m 7! 8 30kg SECAT QS0 OlFl Y& T I TR | AIFTH 04 T 2T (ITF 1m 'S SIS o
#II% (AT 2m VALY 1610 T2, I A0 A0 | ST SSHE TG GG 57 A7

(a) 10kg, 20kg "~ (b)15kg 15kg (c) 12 kg, 18 kg (d) None of the above

7{2 K'l

. ‘A‘ L B_Eﬂ_xl_xg : 15 :
W-,(ﬂ), R TR T [N p— ?—?—T e Xy = ZOI{g,xE —_ lﬂkg

W I T T fermae wRfT TN e e I iR eiwTed foqadt 271, wrzee 3o wioE wwfe @irE TN
W3- :

(a) 90° (b) 60° (c) 45° (d) 30°

ANYIS: (b) ; 3P2 = P2 4+ P? + 2P%cosa=> o = cos™! G) s = 60°

2m A 32 Skg SER G I TOF Q36 GRER ToF QTSI AT A= @ T9B7 T 16cm 4= 2@
SR | TG0 ~TG ST 0 @ AT F© ST &N IE?

(a) 25 kg (b) 25.25 kg () 26 ke (d) 26.25 kg
FUY: (d); - - é—:"-!*:- 0.16 1 15 % 0.84 = x X 0.16 ... x = 26.25 kg

AB FEECARIR AT 60° @It A 77 o 90 T I@ 0T 1 BA SR AR 30° et B T o @33 5y
S PG T T 10 km, AR At FE maaﬁmwmﬁmmﬁmml &R g @t el 90

(a) _Mh-l (b) v"_i km h™? (©)= 5 ~km h~? (d) E km h-1
C

: R o : __ BCsin30° _ 10 -1 10 kan
Y= (c); CD = xsin60° = BCsin30° = x = e X = .ﬁkm h ém
; ' ALl 5 NB

RO ALY RIS YUEEHT.




32,

33.

*34.

33.

36.

37.

38.

39.

40,

41.

ﬂﬁmmwmﬁw147mmmﬂﬁ=§mwﬁ‘?ﬁ§49ms-lmmﬁwmu
CRTTT (RIS R | o = 60° 201 I8 AR (@ Rqre SNie F4d o Twef i 391 (g = 9.81ms™?)

(a) 26.01m (b) 78.03m (c) 254.61m (d) 46.20m
. RN — 2 . :
FHA: (b); y = xtan o — zv;;zu_;, y = 78.03m
RIS GFL CNAIPT JAITR S A 27 8 S PR o 2R TS 707
(a) mr? (b) S r2 (©)3m (d) 4nr?
dv |
Wi(d);?=§nr3:?—=§nx3r x: ::’-E"__%-:ainrz
1011.1 & 10.101 TATT SI%t 0 ©IF ST 24—
(a) 1 (b) 10 (c) 100 (d) 1000
STAIYE: (@) ; 10101 ) 1011100 ( 100 |
10101
1000
ST |
XOZ STFTH FIFAT 3R 2i — j + 4k (SHER AL 7Y IS (SHAM AI—
(a) 41 — 3K (b)3 (4i-3K) ©3 Gi—40 @]

FAYE: (No correct answer)

*FRIgNG A oW 2,4,7,9,3, Bmﬂrmwww@‘ﬁrﬁﬁﬁ?mﬁmﬂnwml WEWWEGW
RIS 67

(a) 0.25 (b) 0.50 (c) 0.75 (d) 1.00 ) |

FATYI: (b) ; 2-LFA (G A = Py x P, = 15; 2-9(LF (MO A = P, =30 .. P =%§-:_— 0.5

10m T7F ATF 10kg SGHF G0 TSSO ST I8 TG (AF Sm S (Ti6 =ife 13-

(a) 490 ] (b) 100 ] (c) 735 ] (d)980]

SATY: (d) ; Te® I8 CFd (A (I THOI @16 *& I8 Tifn Swoiy fea *ifea 11 10 x mxga—gam

40N ST T (N (AT 3m TRTS 2 GITFE 4R ATS I 2ffFmie -

(a)0] (b) 40] () 120] - (d) 240]

ANYI: (a) ; BT I3 T 1 SR F1&7 01

G T @R et I B I G 97 FSTE S A 30° @I 19. maﬁmmmﬁrmmm
HZE Fiad Q9 ST OAq FLHA—

(a) V3 kg (b) 19.6 kg (c) 1kg (d) 9.8 kg
196 N

Y- () ; €& FCA= 19.6 X cos(60°) N = 9.8N = 1 kg weight &
30°

Lq,qsfﬁ-:,“Tcﬁﬁnbs:(_ﬁ:ﬂ1;£L'1'1={=;[:11:[1]?151F1E6“rTl tﬂﬂﬂ%“fﬁﬁ“l‘ﬂ]ﬁ’ﬂmﬁ—
@ (b) = © % @T

. . .
Wﬁ:(d};ﬁ=%mv2=%m'x4nz%;R3ncT2_-_R2D:T3 EEE; ED{T'%
e SyiAcEs 10ms™ TS GOt | GF TS T[AG &= TS 7o ZA-

ST (2) ﬁ ﬂmﬁﬁﬁmwml Ry = u sin(z:us'} 102x1 =10

9.8

_"J' -"-r;" q'ly ;; - E} ﬂﬁ:’_&m m ﬁm “‘iﬂ1HT”




: _ h
BUET EWH$ '-}_"_'i,rm'ﬁ \ Q;

42. a9 fFgs 15ms™ ﬁ%ﬁ%ﬂﬁﬁuﬁﬂkg%ﬂﬁ#wﬁ?@wﬂwm@ﬂmmﬂm
o x
(a) 588N (b) 900 N (c) 750 N (d) 800 N
ST (a) ; FPTED TG0 BoiT BTR I (et WfSF4e gt forarfiea a1 . w= 60 X 9.8 = 588N
43, LtﬁtfmKﬁwwﬁﬁﬁaﬁﬁakﬁmﬁwmwwmaﬁmﬁwmﬁmwm—

(a) = (b) = (c) 2K (d) 4K
W‘tﬁﬂ (d); Fwwmmwmww,ﬁ%ﬁ?ﬁmmﬁmm:ﬁﬁw 7 el FFa ©o o ITT1 .~
Y| = 4K

44, > TR B O 1000 Hz i 2 =1 T 492 O SIS FITes fad I8 fe I, wm‘n‘m |
m..
(a) Rad (b) BTG (c) S (d) aF-5Q4I

W:(a);mmmmwwnm,h%ﬁ

> B 4 & QI FF Ve = 2 94 7]
45. % SIATS IAYCS NS T4 T A1, AT 1 G OFF -

(a) oI (b) f&m (c) STger ()T
ARG SRS ST AAAO© 2 1 |

46. y = 2sin(3140t — x) SIHAT FHEF I~ _ .
(a) 3140 Hz ~ (b) 1570 Hz (c) 150000 Hz (d) 500 Hz

FAY: (d); v = 2sin(3140t — x); @ = 2nf = 3140; Ef= 1; A =2n; 9% = 500 Hz

47. 4D wol RARE @I T (u = 1.5) 47 9F ¥ <1fiTe WA Tt I g TR
(a) 50cm (b) 100cm ~ (c)150cm (d) 200cm
AAYA: (a); ' |

T SAFSI AT & S WA A1R, ”T“' + & = %(pl —-1) - é (hw — 1) air (u=1) lense () water (uy)

2B S = Sy — 1 — py F [ =1 *"—w“'l:%(z"‘ w1 he)
u-sAv="Ff- ”"’=—(2u1—1 1) RPN )

G, --—(pl—lj( )=—E—(p,—1) =>r—25cm
(1)71-..'{1'55,1' 50cm

48. 1 @G3R 41 AR YT STF (ISHIF Cof I | NSTETS BfSHR tofim 2Aie -
(a) 51 (b) 71 (c) 91
TAY: (c) ; &AW « (RER) .- S (R Wem 16 2 9o
-, SOV AISHICA B (142) =3 UFF .-, ST 9 9 .. FWYH: 91

49, mmawWWﬂﬁWmmﬁmmmmﬁwﬁsmwwwﬂﬁsWﬂw
(a) T (b) TSI (c) T )R
FRIGI: T AT TR0 ST S ST @ TS ARRSH 237

(d) 41%

50. quﬂaﬁﬁwwmmﬂ%@wwwmwmm=ﬁmmmww«ﬁ |
e @ 27
(a) T SIF (79T @3¢ e fom (b) (=I5 S AT 93 3 foem
(c) C=ID & oA e 2y few (d) T ST (T 9L &Y fem

ST T B 2SI (O g = wam,awcsﬁm WO B @ T |

R 132 ﬁ TS ey WAy Ywl...
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52.

53.

54.

55.

56.

S7T.

58.

*59.

60.

Wﬁmwmmﬁﬂﬂﬂw&%ﬁ?ww— TS '
() I, CTET 8 IfF®  (b) SRRA, GTet 8 R3S (o) SR, Brevr @ AfFe () 13, Brest ¢ Affs

IR, TEH1 6 e
Cﬁmﬂmmmmwmcﬁﬁﬁaﬁﬁmﬁ? " [Ans: d]
() 1R (b) T (c) T @ e
T G AT REFFT e @3B Rt it st 21, o |
(a) ARNRE AT 95 T Y (b) S AL IF FTH W
(c) AT At 9 =Tw Ty (d) AR AT 52 O AW

TR n = B + P @A, AR Het uF IS, ©F e 71 A

TR BT T ettt foife e 0.8¢ (¢ 22 e siRoramt) sifTe Sa) 2ot St Seifess et za-
(a) 1.6c (b) 0.8¢ (c) c (d) 0.975c¢

TAE: (d) ; Vy = “Lpods = =< = 0.975¢

1+132 140,64

TG Lo fEe 220V @ 51 20 6A aarﬁraltwmf@ﬁwﬁﬁu?ﬁ wmﬁwmv
(a) 7.92 x 10% (b)) 1.32 x 107 (c) 7.92 x 103) (d) 1.32 x 10%]
FHYIN: (a) ; Pt = VIt = 220 X 6 X 60 = 7.92 x 10%]

WWWWSHWWW mﬂwmﬁrzc&rwﬁﬁawﬁqwm‘?

(a) 7.5h (b) 2.5h (c) 10h - (d) 6h
TY: (a) ; N = No. 67 ; = = e™30=5 4 = 0.0924h"%; Ty, = 222 = 7.5h -

AfTF 7°C @LF 1°C @ S1oT T4 6 T2 ' |

(a) Uft I FFHS =]

(b) @it @ eifee =

(c) aft 2T 72Ffo® 27 Y2 A7 Ffee | _ i

(d) aft 2T IS W, S9E ALFHHO T IR AT TR eFfifee 2 %
STAYIR: 7°C CATE 4°C #1468 FH® TR, 4°C (AT 1°C *I47 eFifes T3

ol A y = 1.4 1 fa-2REg ST 5191 0.5% I F21 A T TS Fa—

() 0.5% (b) 0.70% (c) 1.0% (d) 0.36%

1
Y P\ L
e (4); PVY = B = Ve = () Vi = (5

. 9% AV = (1 — 0.996) x 100 = 0.36%
TG /1 AT ARIS o, Q@ G A AT S -

(2) I (b) 9% (c) SFit (d) 9F-97 (5T (=I5

ST %Wwwwﬂm%wlwﬁmaﬁmmwmwuwm1
727 10g “HfFTE 0°C (ITF 40°C ST TS T4 70 O GH{3H-7 oifiiadn 203

(a) 5.43 cal K™* (b) 2.83 cal K™* (c) 1.37 cal K2 (d) 10.58 cal K1

TN (c) 3 ds = fon 2o = 10 X 1073 X 4200 X [Int]343 JK 1 A

=10 x 10~ x 4200 X (In313 —Iln273)]I{'1 = 5.742JK~ = 1.37 cal K-

1

1

AaaSTa ey Hawa ML LS




s )
BUET QIR ,* *5 {‘1;

'-q.r'.l' o el i e o

61. ISR Il @ BTA! 1 mole WA ST Sreral 1memmmmwr—
(a) 8.314] (b) 4200 ] (c) 3.36 x 10°) (d) 4.2] |
ANYE: (a) ; [R 9T O] .. QUF@ & = R = 8.314 ] |

*62. MRV TR IGT AS AT CFawel Zro [ wivt *ifer Soite 81: 1. 9S(b SIvMIEr 1500 K 0o offba Sivimra) aa-—
(a) 622.86 K (b) 500 K (c) 150 K (d) 166.66 K

E T 81 4 [(1500)4
TR: (0) it = =T =T = " =2 = 500K

63. 127°C O3 427°C SIoNIag WYy Idae b 3fEaa 7SRy A& wiel I A7
(a) 28% (b) 42% (c) 29.74% ~(d)70.25%
T (b) 5 = (1 -32) x 100% = (1—332) x 100% = 42.86%
1

700

*64. 14°C @ O3> AIYJTIA 519 8 SNl TSH2 4 @9 IO A *THA @ ATE- ..
(a) 200% (b) 114% (c) 14.6% d)7% -
YA (d) ; Velocity of sound is not affected by change of pressure. Then s J E:::I::; =1.07067
1

.. Velocity is increased by 7.06%

[Quﬂstmnﬁt‘EWWMI ©I2 SIHNf@t 4 o 91 Z0E Wﬂ“ﬁﬁwwu
65. RIFNE R gl 1w vifere T Fifereits foom tagfosr v w9 73—~

(a) SR (b) =T (c) R @3 A olifSE (d) R? @3 AqofeE
FAYE: (b) ; B @F AN TOIBE @Yo CRIaa T+ =77
66. 3 oftr cFrad 730 77 A @2 B @3 Tug 10V (S it Rt & sifasiit s1efte A (9% B e “m=ite
2.0 X 107%] =% S90S Q7
(2) 5.0 X 10%C (b) 5.0 X 10~2%C (c) 2.0 x 107'C (d) 2.0 x 1073C
T: (d); W = qV=> g = = = 22 ¢ = 2 x 107%C

10

67. p — n QIR ALIGFL CTo i BCaa JiBg FEd 90—

- | [Ans: b)
(2) (TR ©ICH (b) SR ILIA AR (c) 2ERQETT Oew (d) SG7 WAH-99 AT
68. @G 15V,1000Q (SFERGH AT 150V *15% “Iffi sl $IC 20T 9 AN @Y FIRMH @ @I4F TS IA0S T O -

(a) 1000Q (b) 900Q (c) 90000

(d) 9990
W:(c};h=%= 10; R =

(n—1)xXr=(10-1) x 1000Q = 90000

69. 220V AR ARE 9F GO &0 IRFS U0 RORIT 110V TR #1320 517 TOIF S0 92 I ©I9f T
- _

O SEERIE b)y=EF (c) aT-vgdic (d) 51T &
IAAYE: (a); V, = 1"F—",tz = 4t, Here,H, = v—ftl |
Again, H, = ﬁtg = (%)2 =4t = Vi T b1 [same as before]

70. @.ﬁwmwmﬂmwmwﬂmﬂm qITed RS *f& «iib wd I am mrdioe

GIR-REATRT §9F TA-
SqY: () ; E; = —IIW'2 Q CV; chnstant |
; V. 1 VE_1 1 (w2 E E
KCV F-—-E Ez—-KC '-'-z KCV Cvz > *

-a_:ﬁ 8




71,

72.

73.

74.

75.

76.

71.

78.

79.

- 80,

81.

82.

83,

1nC STETE W97 GFfB +10 pC m‘{wﬁw wﬁﬁﬁ’ﬂm i p— +10uC S &7 (FTH
ST FEACT FITE it T -

(2) 0 (b) 4 X 1079 (c) 4 % 1076] (d) 4% 1077

FAHI: (a) ; QI Force 8 displacement 1%

T4 0.5H Rf¥B «afd srem ©fde, 231z 50ms T 0.5A (5T 2.5A aaﬁ—wwﬂmﬂ@ﬁﬂmw
BT T -

(a) 10V (b) 15v (c) 20V | (d) 40V

FAAYFA: (c); E = L—-—OSx

= 20V

sux1u-3 '
ﬁm@mﬁwwmﬂmﬂﬁmm A =1 A A1?
(a) TIfFR ORIRERCR (c) CuCl, d) @™
ST (a) ; =nfer Sedetfos 7 -
For @mite Sfe Wiremst s @fie B . .
oF ®) P @S (@sn

FAHI: () ; 9L 1Y IS T a7 e, G ©F 0G|

YR TR 1.0M T 30T pH 97 T $97? |

(a) 6.5 (b) 7.0 (c) 4.5 . '(d}3-5

TR (b) ; I =731 Og Ao =g #73¢ | =) st T3 |

9o AT o vt wa nirpe o3t =01 | ST -

(a) Aqua Fortis (b)SLHESG4+1LHN03 (c) iLHCl+3LHN03 (d)3LH(:IJ+'1LHN03"
AN (d) ; S @Eaire | |
WE@W@ﬁWWWWW@EWWWW@— - | s )
(a) GFTET 17T (b) RSB =Nt (c) SuBrR AT (d) e =ytsr
ST (c) ; C(5) + H,0(g) - CO(g) + Hy(g) T aiiid
aﬁWQﬂ%WWWWWﬁ-

(a) 32 (b) 50 @18 ()82

FAYE: (b) ; 2n? = 2 x 52 =50 ' oo g 3 |
wifirg Y Ao v @ efre teizm?. - o
(a) «afFfos afre @)Wﬁﬁs l-‘lﬁ‘l"l'»? (E)Wﬁﬁ qfes (ﬂ]‘:ﬁmﬁ'ﬁ;ﬂ b |
R @R GTem? o ~ ' | * {Ansi g

(2) (—HIC CH —) () (~cH - cH —)n C @OCFL-CR =)y (&) (~H,C=CHy =),

Cl

WWWWW? B ; © " [Ans: a]
(a) C¢HsNH; (b) NH3 (c) CH;NH, | (d) (CH;),NH

60 ~BIFRIT GIREIE Tad F0T &lle SHeT NTP (S T3- o

(a) 13.70L (b) 11.70L () 10.80L (d) 16.46L

IAY: (d) ; 2KC10; — 2KCl+ 30, 5 2(39. 14355+3x16) 3 x 224 litres = 245. 2gm

2.4x60
-, 60g KCI0; = Z=—— = 16.4L,

ey HA1fre 2eE Qe S b pH @31 19 23— | B et by |
(a) 7.0 STTA ¥ (b) 7.0 SITHT 7 (©7.0 . (d) None of the above
SAMY: (b) ; Ethanol is weakly acidic. |

S H 135 ﬁf Hﬁiﬂ'g : ‘WHE’II..




BUET oRJ51es oy

84.

85.

86.

87.

88.

89.

90.

91.

92,

93.

94.

95.

96.

97.

(a) Nm™2 (b) atm (c) Litre — atm (d) Torr

o TR T G S S A T? V = K

(a) TS ITGE 3@ O UISERT] (c) ©IFH T @ (d) None of the above
THYE: (d); V= Ki is expressed by Boyel law. -

fom o e -39 Gl T17 TSI E U
(a) Ce | (b) Th (c) Np (d) Sm

I (b) : Th 93 74T e~ & o= (2T £ SRR & FR AR

TS H, 97 *[oFql S | |

(a) 50.0 (b) 33.0 (c) 10.5 (d) 11.1

STAIY: (d); Mass of Hp = ———"— X 100% = 11.19%

faoe Rfeaf & «e@? Cl,(aq) + 2KI(aq) - I,(aq) + 2KCl(aq)

(a) FreEats fafert (b) Reares Rierat - (o) Fpes R (d) wem Rferm
TANYF: (c) ; Cl '8 1 W [T IR | |
TS Teet T G A =516 et 3731 27, ©T3 Tt 3 e 7a?

(2) JwT (b) = OEGEEG (d) *itg et
AIYIA: (d) ; Starch forms inclusion complex with iodine. |

o e Rfernoa amamt «@rse e fdfr =t am?

(a) CH4 (g) + 20,(g) — €O, (g) + 2H,0(g) (b) C(s) + 2H(g) - CH,(g)
(c) CaCO5(s) — Ca0(s) + Cﬂz(g) | (d)_CuSD4.5H30(5) — CuS0,4(s) + 5H,0(g)
FAAYE: (a) ; 72 SR A e [efaeieg

Rt @ oI e Ao afFaE Sediw 747

(a) ST (b) et () TrEar (@) @R

STANY: (b) ; CRIETIT ST 1ot @<= YGRFIET “iha T3

NG Gt IR FR4 T9 R I9gs w@? [Ans: d]
(2) KNO; - (b) NH,NO; (c) NaNO, ~ .(d) All of the above

S5g CO, ST o6 Y ATF? | ..

(a) 6.84 x 10%? (b) 6.0 x 10?2 - (c) 6.84 x 1018 (d) 5.84 x 10?2

AMYE: (a) ; 44g CO,contains 6.02 X 1023molecules . 5g CO, contains 6.84 X 1022molecules
o @ Res?

(a) Fe,(S04)3 (b) K;Cr,0, (c) KI (d) I,
AAYE: (¢) ; K is reduetant and itself is oxidized to release I, . I~ — e~ = %lz

BRI M0E @ 93 Siemiag Som st /a7

(2) RIS (b) =G (c) AT N (d) None of the above

SHIY: (b) ; As molality is determined by mass, it is temperature independent.

fom @ el Sirers smrd Fa? | [Ans: b]
(a) Na,S,0, (b) Na,CO,4 (c) NaOH (d) KMnO,

s @@ 298K Stermam «iffe S wdw?

(2) 1071*M (b) 10714 (c) 10-13M2 (d) 10~ 14M?2

FTAG: (d) ; At 298K, [H*1][OH™] = 10~"M x 10~"M = 10-1M?2

Afaaerg aremy FxNe Weel...

e A e R—




98. IO IS 2R e Rmes SyacaRaTsT il ? s i W, " [Ans: d]
(a) k = N eFa/RT (b)k=Ne-Ea/R (c) k = N efa/T (d) k= N e~Ea/RT .
99. T @R “nfite ey 777 | |
(a) Ca(HCO,), (b) MgSO0, (c) CaCO, (d) CaCl,
MRILIEE (c):wmﬁwwmmw, .
100. FGHR 1M DNA o vy ol 17 [Ans: d]
() SOSH - (o) . (c) TRWBIFA (d) T :
101. e R A W ? Pbo, + Mn?* + S02- - PbSO, + MnO;
(2) SOF” (b) Mn?* (c) Pb (d) PbO,
TANS: (d) ; &=et /SR [- Pb*t -  pb2+
Pb0O5 RN )
102. Fe,(Cr0,); 9 @FIfEHITT Sae eyt 3972
(a) +3 (b) +4 (©) +6 (d) +3.5
FAHIE: () ; If x is 0. number of Cr, then x + 4 x (—2) =-2 . x=+46 [CrO?~ @3]
103. o @G SF, sim wfos sia? e . [Ans:d]
(2) fa-Prafirergfe (b) <sfrera sTredy (c) RF© o (d) Ty Prfirergfe
104. fFeTele FIEGHT w6 @awdd Yoa 30 G €@ 02A R o[z viEr Fae & o frerern Seoy =2
(At. wt. of Ag = 108) L
(a) 0.108g (b) 0.430g (c) 0.403g (d) 0.540g
HAAHYE: (c) ; Mol no of Ag = au::;:;.z = 3.73x107 ; Ag* + e -» Ag .. Mass of sjlver deposited = 0.403gm
105. o @F 2R w1 pifieE A Aues? ' . | |
(2) MgSO,.7H,0  (b) ZnSO,.2H,0 (¢)CaS0,.2H,0 . (d)CaSO,.3H,0
HAMYF: (d) ; Plaster of Paris = 2CaS04.H,0 | |
106. fA51® FTTT WHTT TS FARTCBA FIoF! R IO OF IR | 9] QT 6T I 572 . _
(a) TR (AT RIZTGFEA i (b) STST BT R REAR UV Rz 3 ot
(c) Frant®h eiermtar 3 (d) afre 3f2
TRIH: (d) ; MRNBA FAT ©IF T ARAEHE 2gs F@|
107. fcee e s fRferat Treim 203 747 12 Y St EfeRize eifewm gRumzces A Rftrn sae?
| o _ |
(a) CH;CH(OH)CH,CHO (b) CHy — }_l =& —CH,
0
0 .
(c) CHz — C — CH, — CH,OH (d) CHCH(OH) — CH, + CH,0H
STTYH: (a) ; CH3CHO + CH3CHO = CH;CH(OH)CH,CHO [SfeTee qqies]
OH
108, Froe e RRFTS (R) @9 7 52 R-—E%
(2) GIRICIAE (b) R GRS 713 (c) Sifafem () GTEETeRRS

NFCI” OH
TYE: (b) ; @ R 25°C

AfRARSTT 2o FRge wpe.




109.

110.

111.

112

113.

114.

115.

116.

117.

119.
120.

)

Read the following passage and answer the question numbers 109-110 that fnlluw.
For quite a few years now Dhaka has been bubbling with restrained enthusiasm with the prospect of having a magg
transportation system. Underground or over the ground, it hardly mattered as the city’s traffic situation has beey
rapidly deteriorating what with the government trying every sauce in the larder to make traveling a little more
bearable and if possible, pleasant. The consequence has been a greater and louder demand for a modern system akin
to that of other megacities.

Given our questionable record in evaluating human life, more specifically with regard to city provisions and
construction works, it is essential to address associated issues such as safety, fire, noise, air quality etc. during
construction and after commissioning of the mammoth project involving thousands of people round the clock. The
experience of all other cities will be useful and that of an Asian city closer to home with similar soil condition,

population density and built-up infrastructure will be especially pertinent.

It will be useful to remember that the transportation problem cannot be resolved by Iiner means, such as the

introduction of one hundred buses and double-deckers. The scheme of Mass Rapid Transit (as Ithe system has been

coined) requires gamering all related modes of transportation bus, rail (under and over teh ground), water — so that
the options are wide and effective.

Mass Rapid Transit for Dhaka should be designed for-

[Ans : a]
(a) many modes (b) over the ground (c) underground (d) underwater
Dhaka’s record in evaluating human life with regard to construction works is- - [Ans : d]
(a) not maintained (b) uncertain (¢) unsafe (d) unsatisfactory
It 1s necessary to have several model options for the transportation system so that it is- [Ans : a]
(a) efficiently organized (b) effortlessly constructed
(¢) engineering-wise possible (d) environmentally suitable

For question numbers 112 to 116, fill in the blank with appropriate from of verb chosen from the
corresponding list provided below :

Last month the dress me Taka fifteen hundred only, but now it is much costlier, [Ans : a]
(a) cost (b) costed (c) had costed (d) has costed |
The man was for murder. ~ [Ans:c]
() hanging (b) hung (¢) hanged (d) hang
You and he birds of same feather. [Ans : c]
(a) is (b) was (c) are (d) been-

I will not go out if it : [Ans : c]
(a) had rained (b) is raining (c) rains (d) will be raining

I went to the library with a view to there. | [Ans : b]
(a) reads (b) reading (c) will be reading (d) have read

For question numbers 117 to 120, each sentence has four underlined words or phrases. The four underlined
parts of the sentence are marked (A), (B), (C) and (D). Identify the one underlined word or phrase that must
be changed in order to make the séntence correct, |

In ;{h}g United States, ﬂ%gg are m%;)ch_hulldays throughout L(lﬁ)g year. [Ans : ]

] n Florida. [Ans : a] |
T_u}a{.gga (b] %.}ycﬂr nng{l,.ﬁ

. |

: Ans : b -

The study of L%?_Q animals %E? truly fascinating, and many books hg*e been ﬂmr%‘l_uuhm | ] |
He !,ml.g;ﬂs to repair the carburetor without taking the whole car apart. [Ans : c] |
a E %? (c) (d) |
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